MARUDHAR KESARI JAIN COLLEGE FOR WOMEN, VANIYAMBADI PG & RESEARCH DEPARTMENT OF MATHEMATICS

SUBJECT NAME: NUMERICAL METHODS I

CLASS: 1 B.Sc CS

CODE: 23UECS12A

SYLLABUS:

Unit-IV

Finite differences Operators Δ , ∇ and E - relation between them — factorial polynomials. Interpolation with equal intervals: Gregory-Newton forward and backward interpolation formulas.

Finite Difference:

Let y = f(n) be a given function x and let y_0, y_1, \ldots etc upto y_n be the value of y conversponding to $x_0, x_1, \ldots x_n$ be the values of z the independent variable x is called the argument and the corresponding dependent value y is called the entry.

the entries & white the argument and

 χ : $\chi_0,\chi_1,\ldots\chi_n$

y: yo, y, ... yn

Finite ander Difference of f(x):

First ander Difference:

The difference dors vod from the sequence of values obtained from a given function f(x) when the variable x changes in Arithmetical progration x=a, a+h, a+2h,... the function takes the values f(a), f(a)+h, f(a)+2h... Here is known as interval of difference. If f(x) is a function of an independent variable x then they change Af(x) in f. connect to a change Ax is known as Ax then Ax t

 $\Delta f(x) = f(x+h) - f(x)$

Solond ouder Difference:

$$\Delta^{2}f(x) = \Delta [\Delta f(x)]$$

$$= \Delta [f(x+h) - f(x)]$$

$$= [f(x+h+h) - f(x+h) - [f(x+h) - f(x)]$$

$$= [f(x+2h) - f(x+h) - [f(x+h) - f(x)]$$

$$= f(x+2h) - f(x+h) - f(x+h) + f(x)$$

$$\Delta^{2}f(x) = f(x+2h) - 2f(x+h) + f(x)$$

Third order Difference:

$$\Delta^{3}f(x) = f(x+3h) - 3f(x+2h) + 3f(x+h) - f(xh)$$

nth andor Difference:

$$\Delta^{n}+(x) = \Delta E \Delta^{n-1}+(x)$$

$$= \Delta^{n-1} \left[\Delta + (x) \right]$$

$$= \Delta^{n-1} \left[+ (x+h) - +(x) \right]$$

$$\Delta^{n}+(x) = \Delta^{n-1} + (x+h) - \Delta^{n-1} + (x)$$

Difference operators.

Finite difference forward table:

	progument	$ \begin{array}{c c} \text{Eutry} \\ y = f(x) \end{array} $	Δ+(z)	$\Delta^2 f(x)$	03+(x)					
1	. a	fla)	ofla) = flath) - fla)	$\Delta^{2} + (\alpha) =$ $+(\alpha + 2h) -$ $2 + (\alpha + h) +$ $+(\alpha)$	$0^{3}f(a) =$ $f(a+3h) 3f(a+2h) +$ $3f(a+h) f(a)$					
2	ath	flath)	Δ f(a+h) = f(a+2h) - f(a+h)	$0^{2}f(\alpha + h) = f(\alpha + 3h) - 2f(\alpha + 2h) + f(\alpha + h)$	Δ ³ f(a+h)= f(a+ah)- 3f(a+3h)+ 3f(a+2h)- f(a+h)					
3.	a+2h	f(a+2h)	Atlat2h)= f(a+3h)- f(a+2h)	0 ² f(a+2h)= f(a+4h)- 2+(a+3h)+ +(a+2h)	$0^{3}+(\alpha+2h)=$ $+(\alpha+5h) 3+(\alpha+4h)+$ $3+(\alpha+3h) +(\alpha+2h)$					

problems!

1. Form the difference table from the below table.

T	0	1	2	3	4
+(1)	-1	3	19	53	111

	x	+(x)	0f(2)	$\delta^2 f(x)$	$\Delta^3 f(x)$	$\Delta^4 f(x)$
	0	-1	oh uda	שופובל - פאני ו מון פא פארם	promisel 1	F A
	1 2	3	16	12	anno di lib	tin13
10	3	53	34	(4)44	6	Mujing
	4	UT.	58	24	4(0)	30 11
Ď	18	(0)4	16 11			

2. Evalute forward difference for (ab) cx or D(ab) cx

$$\Delta f(x) = f(x+h) - f(x)$$

$$\Delta (ab)^{(x)} = (ab)^{(x+h)} - (ab)^{(x)}$$

$$= (ab)^{(x+ch)} - ab^{(x)}$$

$$= (ab)^{(x)} - ab^{(x)}$$

$$= (ab)^{(x)} - ab^{(x)}$$

$$= (ab)^{(x)} - (ab)^{(x)}$$

$$= (ab)^{(x)} [(ab)^{(x)} - 1]$$

$$\Delta (ab)^{(x)} = (ab)^{(x)} [(ab)^{(x)} - 1]$$

Evaluate
$$\Delta \tan^{-1}(x)$$

$$\Delta \tan^{-1}(x) = \tan^{-1}(x+h) - \tan^{-1}(x)$$

$$\tan^{-1} A - \tan^{-1} B = \tan^{-1} \left[\frac{A-B}{1-AB} \right]$$

$$= \tan^{-1} \left[\frac{A+h-A}{1-(x+h)(x)} \right]$$

$$= \tan^{-1} \left[\frac{h}{1+x^2+xh} \right]$$

Let
$$f(x) = \Delta (\cot 2^{x})$$

$$\Delta f(x) = f(x+h) - f(x)$$

$$\Delta (\cot 2^{x}) = \cot 2^{(x+h)} - \cot 2^{x}$$

$$\Delta (\cot 2^{x}) = \cot 2^{(x+h)} - \cot 2^{x}$$

$$\Delta \left[\frac{\cos 2^{x}}{\sin 2^{x}} \right] = \frac{\cos 2^{(x+h)} - \cot 2^{x}}{\sin 2^{x}}$$

$$\delta \left[\frac{\cos 2^{x}}{\sin 2^{x}} \right] = \frac{\cos 2^{(x+h)} - \cot 2^{x}}{\sin 2^{x}}$$

$$= Sln2^{2} cos2 - cos2^{2} sin2^{(z+h)}$$

31n 2 (x+h) 81n22

$$\left(\Delta \cot 2^{x}\right) = \frac{8^{3}n2^{x}\left[1-2^{h}\right]}{8^{3}n2^{(x+h)}3^{3}n2^{x}}$$

5.
$$\Delta [\omega t (a+bx)]$$

$$f(x) = \Delta [\cot (a+bx)]$$

$$\Delta f(x) = f(x+h) - f(x)$$

$$\Delta [\cot (a+bx) = \cot [a+b(x+h)] - \cot [a+b(x)]$$

$$\cos (a+bx) = \cos [a+b(x+h)] - \cos [a+b(x)]$$

$$sin [a+bx] \cos [a+b(x+h)] - \cos [a+bx] \sin [a+b(x)]$$

$$= \sin [a+bx] \cos [a+b(x+h)] \sin [a+bx]$$

$$= \sin [a+bx-a+b(x+h)] \sin [a+bx]$$

$$\Delta \cot (a+bx) = \sin [a+bx-a+b(x+h)]$$

$$\sin [a+b(x+h)] \sin [a+bx]$$

$$\Delta \cot (a+bx) = \sin [a+bx-a+b(x+h)]$$

$$\sin [a+b(x+h)] \sin [a+bx]$$

$$\Delta \cot (a+bx) = \sin [a+bx-a+b(x+h)]$$

$$\sin [a+b(x+h)] \sin [a+bx]$$

$$\Delta \cot (a+bx) = \sin [a+bx-a+b(x+h)]$$

$$\sin [a+b(x+h)] \sin [a+bx]$$

$$\Delta \cot (a+bx) = \sin [a+bx-a+b(x+h)]$$

$$\sin [a+b(x+h)] \sin [a+bx]$$

$$\Delta \cot (a+bx) = \sin [a+bx-a+b(x+h)]$$

$$\cot (a+bx) = \sin [a+bx-a+b(x+h)]$$

$$\sin [a+bx-a+b(x+h)] \sin [a+bx]$$

$$\cot (a+bx) = \sin [a+bx-a+b(x+h)]$$

$$\cot (a+bx) = \cos [a+bx-a+b(x+h)]$$

$$\cot (a+bx)$$

6. If f(x) and g(x) are any function of xprove the yollowing result holds.

1) $O[f(x) \pm g(x)] = Of(x) \pm Og(x)$ $O[f(x) \pm g(x)] = [f(x+h) \pm g(x+h)] - [f(x) \pm g(x)]$ $= [f(x+h) - f(x)] \pm [g(x+h) - g(x)]$ Off $f(x) \pm g(x)$ = $Of(x) \pm Og(x)$ Hence proved.

iff
$$\Delta[af(x)] = a [\Delta f(x)]$$

$$\Delta[af(x)] = [af(x+h) - af(x)]$$

$$= a [f(x+h) - f(x)]$$

$$= a [of(x)]$$

$$\Delta[af(x)] = a [of(x)]$$

iii)
$$\Delta [f(x)g(x)] = f(x+h)\log(x) + g(x) \circ f(x)$$

$$\Delta [f(x)g(x)] = f(x+h)g(x+h) - f(x)g(x)$$

$$= f(x+h)g(x+h) + f(x+h)g(x) - f(x+h)$$

$$g(x) - f(x)g(x)$$

$$= f(x+h)[g(x+h) - g(x)] + g(x)[f(x+h)]$$

$$- f(x)$$

D[f(x)q(x)] = f(x+h) Og(x) + q(x) Of(x)

$$\begin{array}{l}
\text{(iv)} \quad \Delta \left[\frac{1}{f(x)} \right] &= \frac{-\Delta f(x)}{f(x)f(x+h)} \\
\Delta \left[\frac{1}{f(x)} \right] &= \frac{1}{f(x+h)} - \frac{1}{f(x)} \\
&= \frac{1}{f(x+h)} - \frac{1}{f(x+h)} \\
&= \frac{1}{f(x+h)} + \frac{1}{f(x)} \\
&= -\frac{1}{f(x+h)} + \frac{1}{f(x)} \\
&= \frac{1}{f(x+h)} + \frac{1}{f(x)}
\end{array}$$

$$\Delta(\frac{1}{f(x)}) = -\frac{\Delta f(x)}{f(x)f(x+h)}$$

Backward Difference!

Backward difference operator ∇ defended as $\nabla f(x) = f(x) - f(x+h)$ It is also known as first order Backward difference.

second ouder backward Difference:

$$\nabla^{2}f(x) = \nabla \left[\nabla f(x) \right]$$

$$= \nabla \left[f(x) - f(x-h) \right]$$

$$= \nabla f(x) - \nabla f(x-h)$$

$$\nabla^{2}f(x) = f(x) - f(x-h) - f(x-h) + f(x-2h)$$

$$\nabla^{2}f(x) = f(x) - 2f(x-h) + f(x-2h)$$

Third order Backward Difference:

$$\nabla^{3}f(x) = \nabla \left[\nabla^{2} f(x) \right] \\
= \nabla \left[f(x) - 2f(x-h) + f(x-2h) \right] \\
= \nabla f(x) - \nabla^{2}f(x-h) + \nabla f(x-2h) \\
= f(x) - f(x-h) - 2f(x-h) + 2f \\
(x-2h) + f(x-2h) \\
- f(x-3h)$$

$$\nabla^{3}f(x) = f(x+h) - 3f(x-h) + 3f(x-2h) \\
- f(x-3h)$$

nth wider Backward Difference:

$$\nabla^{n} f(x) = P \left(\nabla^{n+1} f(x) \right)$$

$$= \nabla^{n+1} \left[\nabla f(x) \right]$$

$$= \nabla^{n+1} \left[f(x-h) + f(x) \right]$$

$$\nabla^{n} f(x) = \nabla^{n+1} f(x-h) + \nabla^{n+1} f(x)$$

shifting operator (E)

$$Ef(x) = f(x+h)$$

$$E^{2}f(x) = f(x+2h)$$

$$E^{3}f(x) = f(x+3h)$$

$$E^{4}f(x) = f(x+4h)$$

Invouse shifting operator:

$$F^{-1}f(x) = f(x-h)$$
 $F^{-2}f(x) = f(x-2h)$
 $F^{-3}f(x) = f(x-3h)$
 $F^{-4}f(x) = f(x-4h)$

Relation between difference operator:

i) Relation between Δ operator and shifting operator (Δ and E). We know that

$$D+(x) = f(2+4) - f(x)$$
= $E + (x) - f(x)$

$$\Delta f(\alpha) = f(\alpha) \left[E - I \right]$$

$$\left[\Delta = E - I \left(Or \right) E = O + I \right]$$

is) Relation between Backward difference and shifting operator (vand E) we know that .

$$\nabla f(x) = f(x) - f(x-h)$$

$$= f(x) - E^{-1}f(x)$$

$$\nabla f(x) = f(x) \left[1 - E^{-1} \right]$$

$$\nabla = 1 - E^{-1}$$

$$E^{-1} = 1 - \nabla$$

1. prove that

HONORIE & SHIP THE A DIRORAL

Proof
$$E = \nabla = E \nabla f(x)$$

$$= E f(x) - f(x - h)$$

$$= F(x + h) - f(x - h + h)$$

$$= f(x + h) - f(x)$$

$$= A$$

2. prove that the following results

1) $\nabla = E^{-1} \Delta$

$$E^{-1}\Delta f(x) = E^{-1}[f(x+h) - f(x)]$$

$$= E^{-1}f(x+h) - E^{-1}f(x)$$

$$= f(x+h-h) - f(x-h)$$

$$= f(x) - f(x-h)$$

$$= \nabla$$

$$\nabla^{-1}y = D^{-1}\Delta$$

By using (iff)
$$E^{-1} = 1 - \nabla$$
consider
$$\nabla^{-1}y = (1 - \nabla e^{-1})^{-1}y = (1 - \nabla e^{-1})^{-$$

(iii)
$$1-\nabla = E^{-1}$$
 $(1-\nabla) f(x) = f(x)-[f(x)-f(x-h)]$
 $= f(x)-f(x)+f(x+h)$
 $= f(x-h)$
 $1-\nabla f(x) = E^{-1}f(x)$

[1-\nabla = E^{-1}]

(v) $E=e^{hD}$

(using $E \neq t(x) = f(x+h)$
 $= f(x) + \frac{h}{1!} + \frac{h^2}{1!} + \frac{h^2}{2!} + \frac{h^2}{1!} + \frac{h^2}{2!} +$

$$= (1-\Delta+\Delta^{2}+\cdots)$$

$$= 1-\Delta$$

$$\Delta = 1-e^{-hD}$$

$$prove that$$

$$(1+\Delta) (1-\nabla) = 1$$

$$(1-\nabla) f(x) = f(x) - \nabla f(x)$$

$$= f(x) - [f(x) - f(x-h)]$$

$$= f(x) - f(x) + f(x-h)$$

$$- f(x-h)$$

$$(1-\nabla) f(x) = E^{-1} f(x)$$

$$(1+\Delta) f(x) = f(x) + \Delta f(x)$$

$$= f(x) + [f(x+h) - f(x)]$$

$$= f(x+h)$$

$$(1+\Delta) f(x) = E^{-1}$$

$$= f(x+h)$$

$$(1+\Delta) f(x) = E^{-1}$$

$$= E^{-1}$$

$$= E^{-1}$$

$$= [(1+\Delta)(1-\nabla) = 1]$$

prove that E0 = 0E

$$FAf(x) = E[Of(x)]$$

$$= E[f(x+h) - f(x)]$$

$$= F(x+h) - Ef(x)$$

$$= f(x+h) - f(x+h)$$

$$= Of(x+h)$$

$$= OE$$

$$EO = AE$$

Factorial polynomial

Taking 'n' to be positive integral using as souterval of differenting we write

$$x^{n} = x(x-1)(x-2) - \cdots - (x-n+1)$$

In case the internal of differencing is 'h'

$$z^{(n)} = z(x-h)(x-2h) - \cdots (x-n-1h)$$

$$\chi^{(1)} = \chi$$

$$\chi^{(2)} = (\chi - h)\chi$$

and so on

in) we shall calculate the differencing

$$= [(x+h) (x+h-h)(x+h-2h) \cdots (x+h-n-h)] - [x(x-h) \cdots (x-h-h)] - [x(x-h) \cdots (x-h-h)] - [x(x-h) \cdots (x-h-h)] - [x(x-h) \cdots (x-h-1h)] - [x(x-h)] - [x(x-$$

Evaluate:

$$\Delta^2 \left[\frac{5x+12}{x^2+5x+6} \right]$$
 with $h=1$

$$\frac{5x+12}{x^2+5x+16} = \frac{5x+12}{(x+2)(x+3)}$$

$$5x+12=\frac{A}{(x+2)}+\frac{B}{(x+3)}\rightarrow 0$$

$$=75x+12 = A(x+3) + B(x+2)$$

put x = -3

$$5(-3)+12=A(0)+B(-3+2)$$

$$B = 3$$

Sub A, B values in (1)

$$\frac{57+12}{(7+2)(7+3)} = \frac{2}{(7+2)} + \frac{3}{(7+3)}$$

$$\Delta^{2}\left[\frac{5x+12}{(2x+2)(2x+3)}\right] = \Delta^{2}\left[\frac{2}{(2+2)} + \frac{3}{2+3}\right]$$

$$= \Delta \left[\Delta \left(\frac{2}{x+2} \right) + \Delta \left(\frac{5}{x+3} \right) \right]$$

$$= \Delta \left[2 \left(\frac{1}{x+5} - \frac{1}{x+2} \right) + 3 \left(\frac{1}{x+4} - \frac{1}{x+3} \right) \right]$$

$$= \Delta \left[2 \left(\frac{x+2-x-3}{(x+3)(x+2)} \right) + 3 \left(\frac{x+3-x-4}{(x+4)(x+5)} \right) \right]$$

$$= 2\Delta \left[\left(\frac{x+2-x-3}{(x+3)(x+2)} \right) + 3\Delta \left(\frac{-1}{(x+4)(x+5)} \right) \right]$$

$$= -2 \left[\frac{1}{(x+3)(x+4)} - \frac{1}{(x+2)(x+3)} \right]$$

$$= -2 \left[\frac{1}{(x+2)(x+3)(x+4)} - 3 \left(\frac{x+3-x-5}{(x+3)(x+4)(x+5)} \right) \right]$$

$$= -2 \left[\frac{x+2-x-4}{(x+2)(x+3)(x+4)} - 3 \left(\frac{x+3-x-5}{(x+3)(x+4)(x+5)} \right) \right]$$

$$= -2 \left[\frac{x+2-x-4}{(x+2)(x+3)(x+4)} + \frac{6}{(x+3)(x+4)(x+5)} \right]$$

Final Equation
$$\left(\frac{\Delta^{2}}{E}\right)x^{3} = \left(\frac{(E-1)^{2}}{E}\right)x^{3}$$

$$= \left(\frac{E^{2}-2E+1}{E}\right)x^{3}$$

$$= \left(\frac{E-2+L}{E}\right)x^{5}$$

$$= \left(\frac{E-2+E^{-1}}{E}\right)x^{5}$$

$$= Fx^{3}-2x^{3}+F^{-1}x^{3}$$

$$= (x+1)^{3}-2x^{3}+(x-1)^{3}$$

$$= 6x$$

$$\left(\frac{O^{2}}{E}\right)z^{3} = 6x$$

Evaluate
$$\Delta^{n}(e^{ax+b}) \text{ with } h=1$$

$$\Delta^{n}(e^{ax+b}) = \Delta^{n-1}[\Delta e^{ax+b}]$$

$$= \Delta^{n-1}[e^{a(x+1)+b} - e^{ax+b}]$$

$$= \Delta^{n-1}[e^{ax+b}e^{a} - e^{ax+b}]$$

$$= \Delta^{n-1}[e^{ax+b}(e^{a-1})]$$

$$= \Delta^{n-1}[(e^{ax+b})(e^{a+b})]$$

$$= (e^{\alpha} - 1) \Delta^{n-1} [e^{\alpha x + b}]$$

$$= (e^{\alpha} - 1) \Delta^{n-1} [e^{\alpha (x + 1) + b} - e^{\alpha x + b}]$$

$$= (e^{\alpha} - 1) \Delta^{n-1} [e^{\alpha (x + 1) + b} - e^{\alpha x + b}]$$

$$= (e^{\alpha} - 1) \Delta^{n-2} [e^{\alpha x + b} e^{\alpha} - e^{\alpha x + b}]$$

$$= (e^{\alpha} - 1) \Delta^{n-2} [e^{\alpha x + b} [e^{\alpha} - 1)]$$

$$= (e^{\alpha} - 1)^{2} \Delta^{n-2} [e^{\alpha x + b}]$$

$$proceeding in this way, we get
$$\Delta^{n} (e^{\alpha x + b}) = (e^{\alpha} - 1)^{n} \Delta^{n-n} (e^{\alpha x + b})$$

$$= (e^{\alpha} - 1)^{n} \Delta^{n} (e^{\alpha x + b})$$

$$= (e^{\alpha} - 1)^{n} \Delta^{n} (e^{\alpha x + b})$$

$$= (e^{\alpha} - 1)^{n} (e^{\alpha x + b})$$$$

Evaluate Confe- (1)

$$\frac{\Delta^{2}}{E} sin(x+h) = \left[\frac{(E-1)^{2}}{E}\right] sin(x+h)$$

$$= \left(\frac{E^{2}-2E+1}{E}\right) sin(x+h)$$

$$= (E-2+\frac{1}{E}) sin(x+h)$$

$$= (E-2+E^{-1}) sin(x+h)$$

$$= F sin(x+h) - 2 sin(x+h) + E^{-1} sin(x+h)$$

$$= sin(x+2h) - 2sin(x+h) + sin(x-h+h)$$

$$= sin(x+2h) - 2sin(x+h) + sin(x)$$

8)
$$S = E/z - E/z$$

Prove that, $\Delta \nabla = \Delta \nabla = \Delta - \nabla = S^2$

Consider:

$$\Delta \nabla = \Delta [\nabla f(x)]$$

$$= \Delta [f(x) - f(x-h)]$$

$$= \Delta f(x) - \Delta f(x-h)$$

$$= f(x+h) - f(x) - f(x-h+h) + f(x-h)$$

$$= f(x+h) - f(x) - f(x-h+h) + f(x-h)$$

$$= f(x+h) - f(x) - f(x) + f(x-h)$$

$$\Delta \nabla = f(x+h) - 2f(x) + f(x) + f(x+h) \rightarrow 0$$

$$\Delta \nabla = \nabla [\Delta f(x)]$$

$$= \nabla [f(x+h) - f(x)]$$

$$= f(x+h) - f(x) + f(x-h) \rightarrow 0$$

$$\Delta \nabla = f(x+h) - f(x) + f(x-h) \rightarrow 0$$

$$\Delta \nabla = f(x+h) - f(x) + f(x-h) \rightarrow 0$$

$$\Delta \nabla = f(x+h) - f(x) + f(x-h) \rightarrow 0$$

$$\Delta \nabla = f(x+h) - f(x) + f(x-h) \rightarrow 0$$

$$\Delta \nabla = f(x+h) - f(x) + f(x-h) \rightarrow 0$$

$$= f(x+h) - f(x) - [f(x) - f(x-h)]$$

$$0 - \nabla = f(x+h) - 2f(x) + f(x-h) - \sqrt{3}$$

$$\int^{2} = \int^{2} + (x)$$

$$= \left[E^{V_{2}} - E^{V_{2}} \right]^{2} + (z)$$

$$= \left[E^{V_{2}} \right)^{2} + \left(E^{-V_{2}} \right)^{2} - 2 \left(E^{V_{2}} \right) \left(E^{-V_{2}} \right) \right] + (z)$$

$$= \left[E + E^{-1} - 2 \right] + (x)$$

$$= E + (x) - 2 + (x) + E^{-1} + (x)$$

$$\int^{2} = +(x+h) - 2 + (x) + f(x+h) \rightarrow G$$
from $(0, 2), 3, 4$ we get,
$$\int^{2} = \nabla \Delta = \nabla \Delta = \Delta - \nabla = \int^{2} \Delta \nabla = \nabla \Delta = \Delta - \nabla = \int^{2} \Delta \nabla = \nabla \Delta = \Delta - \nabla = \int^{2} \Delta \nabla = \nabla \Delta = \Delta - \nabla = \int^{2} \Delta \nabla = \nabla \Delta = \Delta - \nabla = \int^{2} \Delta \nabla = \nabla \Delta = \Delta - \nabla = \int^{2} \Delta \nabla = \nabla \Delta = \Delta - \nabla = \int^{2} \Delta \nabla = \nabla \Delta = \Delta - \nabla = \int^{2} \Delta \nabla = \nabla \Delta = \Delta - \nabla = \int^{2} \Delta \nabla = \nabla \Delta = \Delta - \nabla = \int^{2} \Delta \nabla = \nabla \Delta = \Delta - \nabla = \int^{2} \Delta \nabla = \nabla \Delta = \Delta - \nabla = \int^{2} \Delta \nabla = \nabla \Delta = \Delta - \nabla = \int^{2} \Delta \nabla = \nabla \Delta = \Delta - \nabla = \int^{2} \Delta \nabla = \nabla \Delta = \Delta - \nabla = \int^{2} \Delta \nabla = \nabla \Delta = \Delta - \nabla = \int^{2} \Delta \nabla = \nabla \Delta = \Delta - \nabla = \int^{2} \Delta \nabla = \nabla \Delta = \Delta - \nabla = \Delta = \Delta + \Delta$$

 $\frac{\langle D^2 \rangle}{\langle E \rangle} e^2 \cdot \frac{Ee^2}{\Delta^2 e^2} = e^2, h^2 \text{ interval of differencing}.$

$$\frac{\left(\Delta^{2}\right)}{E}e^{2} = \left[\frac{(E-1)^{2}}{E}\right]e^{2}$$

$$= \left(\frac{E^{2}+1-2E}{E}\right)e^{2}$$

$$= \left(\frac{E-2+E^{-1}}{E}\right)e^{2}$$

$$= Ee^{2}-2e^{2}+E^{-1}e^{2}$$

$$= e^{(2+h)}-2e^{(2+h)}+e^{2h}$$

$$\left(\frac{\partial^{2}}{E}\right)e^{2} = e^{2}\left(e^{h}-2+e^{-h}\right)$$

$$Ee^{x} = e^{x+h}$$

$$\Delta^{2}e^{x} = (E-1)^{2}e^{x}$$

$$= (E^{2}+1-2E)e^{x}$$

$$= e^{(x+2h)} - 2e^{x+h} + e^{x}$$

$$= e^{x} [e^{2h} - 2e^{h} + 1]$$

$$= e^{x} e^{h} [e^{h} - 2 + e^{h}]$$

$$\Delta^{2}e^{x} = e^{x+h} [e^{h} - 2 + e^{-h}]$$

$$(\Delta^{2}) e^{x} - \frac{Ee^{x}}{\Delta^{2}e^{x}} = e^{x} [e^{h} - 2 + e^{-h}] \cdot \frac{e^{x+h}}{e^{x+h}}$$

$$= e^{x} e^{h} [e^{h} - 2 + e^{-h}] \cdot \frac{e^{x+h}}{e^{x+h}}$$

Interpolation

Newton's forward formula

?\
$$u = \frac{x-a}{h}$$

ii) $f(x) = f(a) + \frac{u^{(1)}}{1!} \Delta f(a) + \frac{u^{(2)}}{2!} \Delta^2 f(a) + \frac{u^{(3)}}{3!} \Delta^3 f(a) + \dots$

Backward formula

$$y = \frac{x - (a + nh)}{h}$$

ii)
$$f(x) = f(a + nh) + \frac{u^{(1)}}{1!} \nabla f(a + nh) + \frac{u^{(2)}}{2!}$$

$$\nabla^{2} f(a + nh) + \cdots + u(u + 1)(u + 2)$$

$$\cdots (u + 1)(n - 1) \sum_{n=1}^{n} f(a + nh)$$

1. Using Backward formula to estimate the population for the year 1925

x	1891	1901	1911	1921	1931
20	y	Vy .	∇ ² ¥	∀3y	V ⁴ y
1891	46	20	(84	+ 10/3	
1901	66	15	-3	2	-3
1911	81	12	-A	58-118	4224
192	90 08	8	2459	175	otolula!
193	, 101	WA L		IA W	

$$n = \frac{1925 - 1931}{10}$$

$$= -6$$

$$0$$

$$u = -0.6$$

$$f(x) = 101 + \frac{(-0.6)}{1!} (8) + \frac{(-0.6)(-4)}{2!} (-4) + \frac{(-0.6)^3}{3!} (-4)$$

$$+ \frac{(-0.6)}{4!} (-3) + ...$$

$$= 101 + \frac{(-0.6)}{1!} (8) + \frac{(-0.6)(-0.6+1)}{2!} (-4) + \frac{(-0.6)(-0.6+1)(-0.6+2)}{2!} (-4) + \frac{(-0.6)(-0.6+1)(-0.6+2)(-1)}{2!} (-4) + \frac{(-0.6)(-0.6+1)(-0.6+2)(-1)}{2!} (-3)$$

$$= 101 + (-4.8) + (0.48) + 0.0056 + 0430$$

$$= 96.8396$$
(alculate $0.75 = 2459 + 0.65 = 1180 + 0.0056 + 0.430$

2. Calculate U75 = 2459 U85 = 1180 U80 = 2018
U90 = 402 Using forward Method.

7	y	Dy o	$\Delta^2 y$	034
75 80 85 90	2459 2018 1180 402	-441 -838 -778	-397 .60	457

NEWTON GEOGORY FORMULA

Newton Geogory formula for forward Intervals)

Statement:

 $f(n) = f(a) + u^{(1)} \delta f(a) + \frac{u^{(2)}}{2!} \delta^2 f(a) + \frac{u^{(n)}}{2!} \delta^n f(a) + \frac{u^{(n)}}{n!} \delta^n f(a)$

where,

 $u = \frac{x-\alpha}{h}$ and $u^{(n)} = u(u-1)(u-2)...(u-n-1)$

proof

Let Pn(x) be a polynomial in x of degree n $Pn(x) = Ao + A_1(x-a) + A_2(x-a)$.

 $(x-a-h)+A_3(x-a)$ $(x-a-h)(x-a-2h)+...+A_{1}(x-a)(x-ah)$

[1-a-(n-1)h] =>0

```
Whose we choose the coefficient
   AO, AI - . - An
  Pn (a) = f(a), Ph (a+h) = f(a+h) - .
      pn ((atnh) = + (atnh)
   Pn (a) = Ao + A1 (a-a) + · · · + An (a-a) (a-a-h) ...
                           [a-a-(n-1)n]
  put x = a + h &n (1)
 Pn (a+h) = Ao + A1(a+h-a) + A2(0)-..+An(0)
              = AothAi
f(a+h) = f(a) + hA
hA_1 = f(a+h) - f(a)
           Al = Of(a)
       Put x = a+2h an O
      pn (a+2h) = Ao +A, (a+2h-a) + A, (a+2h-a
                       Cat2h-ah) + A3(0)+.
                                 + An(o)
          +(a+2h) = Ao +A12h + A2 2h2
         = f(a) + 2h Dfa + Az 2h2
```

$$= f(a) + 2 \left[f(a+h) - f(a) \right] + 2h^{2}A_{2}$$

$$= f(a) + 2 f(a+h) - 2f(a) + 2h^{2}A_{2}$$

$$= f(a) + 2 f(a+h) - 2f(a) + 2h^{2}A_{2}$$

$$2h^{2}A_{2} = f(a+2h) - 2f(a+h) + f(x)$$

$$Similarly we can find$$

$$A_{3} = \frac{0.3f(a)}{3!h^{3}}$$

$$A_{n} = 0^{n}f(a)$$

Sub these values 3n Ao, A... An 3n 0 $Pn(\alpha) = f(\alpha) + of(\alpha) (\alpha - a) + of(\alpha) \frac{2!h^2}{2!h^2}$

(x-a)(x-a-h)+

$$\frac{1}{n!h^{n}}(x-a)(x-a-h)-\frac{1}{2}(x-a-(h-1)h)}{43}$$

where

$$u = \frac{x-a}{h}$$

$$uh = x-a$$

$$x = uh + a$$
Sub $x = a + uh$ in eq 2

 $Pn(a+uh) = f(a) + \Delta f(a) (uh-a-a) + \Delta^2 f(a)$ $\frac{1!h}{2!h^2}$

(uh +a-a)+.. + sh+(a) (uh) (uh-h)..

Luh-In-1)h

flatuh) = fla) + Afla) wh)+ 32fla) (4h)

(uh-h)+..+ 1/4(a) n [u(u-1)... u-(n-1)]

 $fh(a+uh) = f(a)+of(a) u+o^{2}f(a) h^{2} u(u+)+$ $\frac{2!h^{2}}{2!h^{2}}$

 $\frac{1}{n!h^n}$ $h^n \left[u(u-1)-..u-(n-1)\right]$

 $+h(a+uh) = f(a) + b + (a) u^{(1)} + b^2 + (a) u^{(2)} + \frac{b^2}{2!} u^{$

+ 0ⁿ + (a) u(n).

this & Newton gragory formula for forward interpolation.

Representation	of	a	polynomial	3n	factorial
Notation	740				,

Represent the polynomial x3+2x2+3x-4 in factorial notation

 $x^3 + 2x^2 + 3x - 4 = x^3 + 5x^2 - 6x - 4 = 0$

2. Represent the polynomial 213-3x2+3x-4 in factorial Notation.

 $2x^3 + 3x^2 + 2x - 4 = 0$

Represent the polynomial $x^5 + 0x^4 + 0x^3 + 0x^2 + 0x-3 = 0$ In factorial Notation.

C	11	0	.0	0	0	- 3	
	0	0	0	0	0	Ó	
t	1	0	0	0	0	- 3	
	0	1	1	1	1.0	19	
2	1	1	1	1	1	01	Ī
	0	2	6	14	0	1	
3	1	3	7	15		P	
	0	3	18	7			
4	1	6	25			0	
	0	4	74.	19			
-	750	_		QA	_A		
- 1	1	10				4	

 $x^{5} + 10x^{4} + 25x^{3} + 15x^{2} + 2x - 3 = 0$

16+ 15x +59x +52x - 171 - 7x=1=0 10

1-48- X 518 + 300 x + 300 x + 312 x - 34 = 0

4. Represent the phynomial $f(x) = x^6 - 6x^{\frac{4}{2}} - 2x^{\frac{3}{2}} - 1$ factorial Notation and find is different in factorial Notation.

 $x^{6} + 15x^{5} + 59x^{4} + 52x^{3} - 17x^{2} - 7x - 1 = 0$ $Df(x) = 6x^{5} + 75x^{4} + 236x^{3} + 156x^{2} - 34x - 7 = 0$ $D^{2}f(x) = 30x^{4} + 300x^{3} + 708x^{2} + 312x^{2} - 34 = 0$ $D^{3}f(x) = 120x^{3} + 900x^{2} + 1416x + 312 = 0$

$$\Delta^{4}(x) = 360x^{2} + 1800x + 1416 = 0$$

$$\Delta^{5}f(x) = 720x + 1800 = 0$$

$$\delta^{6}f(x) = 720 = 0$$

$$\Delta^{7}f(x) = 0$$

$$h/7$$

Represent the polynomeas $f(x) = 2x^2 - 3x^2 + 3x - 10$ factorial Notation and find is difference in factorial Notation

 $0 f(x) = 2x^{3} + 3x^{2} + 2x - 10 = 10$ $0^{2}f(x) = 6x^{2} + 6x + 2 = 0$ $0^{3}f(x) = 12x + 6 = 0$ $0^{4}f(x) = 12x$ $0^{5} = 0$

N75

Theorem:

Newton gregory formula for Backerard .

Statement: y=f(x) denotes a function which takes the value of f(a), f(a+h), f(a+2h).

tor (n+1) equidistant values a, a+h, a+2h, (a+nh) of independent variable x then.

 $f(x) = f(a+nh) + \frac{u}{1!} \nabla f(a+nh) + \frac{u(u+1)}{2!} \nabla^2 f(a+nh) + \cdots + \frac{u(u+1)(u+2) \cdots (u+(n-1))}{n!}$

where $u = \frac{x-a-nh}{h}$

proof !

 $pn(\pi)$ be a palynomial of degree n in x such that $y = f(x^i) = pn(x^i)$ Let us assume $pn(x^i)$ $Ph(x) = Ao + A_1(x-a-nh) + A_2(x-a-nh)(x-a-nh+nh)$ $+ A_3(x-a-nh)(x-a-nh+h)(x-a-nh+2h)$ $+ \cdots + An \sum (x-a-nh)(x-a-nh+h) - \cdots$ $(x-a-nh+(n-1)h \longrightarrow 0$

put x = a + nh - h in 1

 $Pn(a+nh-h) = Ao+A_1(a+nh-h-a-nh)+A_2$ $(o)+\cdots$

 $= A_0 + A_1 (-h)$ + (a+nh-h) = f(a+nh) - hA $hA_1 = f(a+nh) - hA$ $A_1 = f(a+nh) - f(a+nh-h) = \nabla f(a+h)$ 1!h

Put n=a+nh-2h in 1

 $pn(a+nh-2h) = Ao+A_1(a+nh-2h-a-nh)+$ $A_2(a+nh-2h-a-nh)$ $(a+nh-2h-nh+h-a) A_3(0)$

= $Aot A, (-2h) + A_2 (-2h) (-h)$

= Ao - 2hA, + 2h2A2

$$f(a+nh-2h) = f(a+nh)-2h \left[\frac{\nabla f(a+nh)}{!h} \right] + 2h^2A_2$$

$$= f(a+nh)-2[f(a+nh)-f(a+nh-h)] + 2h^2-A_2$$

$$2h^{2}A_{2} = f(a+nh-2h) + f(a+nh)-2f(a+nh)$$

$$= f(a+nh)-2f(a+nh)-h) + f(a+nh-2h)$$

$$= \nabla^{2}f(a+nh)$$

$$A_2 = 4^2 f(a + nh)$$

$$2!h^2$$

Similarly MATOA = (de-late of mo

$$A_3 = \sqrt[3]{10 + nh}$$

$$An = \nabla^n f(a + nh)$$
 $h!h^n$

Sub Ao, AI ... An Value in 1 we get. $pn(x) = f(a+nh) + \forall f(a+h) (x-a-nh) +$ 12 + (a + nh) (x-a-whth) 2!42 + $\frac{7^{3}f(a+nh)}{3!h^{3}}(x-a-h)(x-a-nh+1)$ $(x-a-nh+2h)+\cdots+P^{n}f(a+nh)$ $(x-a-nh+h)\cdots$ $(\chi - \alpha - nh(n-1)h) \longrightarrow (2)$ When $U = \frac{x - a - nh}{h} \Rightarrow vh = x - a - nh$ I = a + wh + nh Sub X = a + uh + nh 3u equ 2 $Pn(x) = f(a+nh) + \nabla f(a+nh) + \nabla^2 f(a+nh)$ (atuh+nh-a-nh) (atuh+nh-a-whth of latur [catuh-a-nh) (atuh+nha-nh+h) [a+uh-a-nh+(n-1)h)]

= $f(a+nh) + \frac{\nabla f(a+nh)}{(uh)}(uh) + \frac{\nabla^2 f(a+nh)}{2!h}(uh)(uh+h)$ $f \cdots + \frac{\nabla^n f(a+nh)}{n!h^n} \left[(uh)(uh+h)(uh+2h) (uh+(n-1)h) \right]$ $\vdots \cdot f(a) = f(a+nh) + \frac{U}{1!} \nabla f(a+nh) + \frac{U(U+1)}{2!} \nabla^n f(a+nh)$ $+ \cdots + \frac{U(U+1) - \cdots U + (N-1)}{n!} \nabla^n f(a+nh)$ n!

thus is known as Newton's Gregory formula for Backward Interpolation.

E MN+NU+D=X du2

bu(x) = +(vyn+o)+ = (x)ud

CO to 1 (Not - 10 - 101) LOT OF THE

(the bollowing Comes Por

CM Feller D . S . MALA

(A) + NA - D - NA (D)